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Pass Marks : 26

PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 8 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 8 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) The specific heat of an element is 0.1 Its approximate
atomic wt. will be :
(a) 40
(b) 46
(c) 64
(d) None of these

(i) fdlh rRo dk fo-rki 0.1 gSA mldk yxHkx ijek.kq Hkkj
gksxk %

(v) 40
(c) 46
(l) 64
(n) buesa ls dksbZ ughaA

(ii) Which one is electron deficient compound ?
(a) BF3
(b) CO2
(c) H2 O
(d) None of these.

(ii) buesa ls bysDVª¡ku foiUu ;kSfxd dkSu lk gS\

(v) BF3
(c) CO2
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(l) H2 O
(n) buesa ls dksbZ ughaA

(iii) When pH of a solution increases, its hydroxyl ion con-
centration:
(a)  decreases
(b) increases
(c) remains constant
(d) None of these

(iii) tc fdlh ?kksy dk pH c<+rk gS rks] ml ?kksy ds oH- vk;u

dk lkUnz.k %

(v) ?kVrk gS
(c) c<+rk gS

(l) fLFkj jgrk gS

(n) buesa ls dksbZ ugha

(iv) Correct order of first ionisation potential is :
(a) N > O < F
(b) N < O < F
(c) N > O > F
(d) None of these

(iv) izFke vk;uu foHko dk lgh Øe gS%

(v) N > O < F
(c) N < O < F
(l) N > O > F
(n) buesa ls dksbZ ugha



(v) The percentage of oxygen in air by weight :
(a) 21 %
(b) 23 %
(c) 78 %
(d) None of these

(v) nzO;eku dh n`f"V ls gok esa vk¡Dlhtu dk izfr'kr gksrk gS %

(v) 21 %
(c) 23 %
(l) 78 %
(n) buesa ls dksbZ ughaA

(vi) Calgon is a trade name of :
(a) Sodium silicate
(b) Calcium phosphate
(c) Sodium hexametaphosphate
(d) None of these

(vi) dsyxku fuEukafdr esa ls fdldk O;olkf;d uke gS\

(v) lksfM;e flfydsV
(c) dSfY'k;e QkLQsV

(l) lkfM;e gsDlkesVkQkLQsV

(n) buesa ls dksbZ ugha

(vii) H3  PO3 is a :
(a) Monobasic acid
(b) Dibasic acid
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(c) Tribasic acid
(d) None of these

(vii) H3  PO3  gS ,d
(v) ,d HkkfLed vEy

(c) f}HkkfLed vEy

(l) f=HkkfLed vEy

(n) buesa ls dksbZ ughaA

(viii) Which of the following is the most electronegative atom?
(a) F
(b) Cl
(c) I
(d) Li

(viii) buesa ls fdldh fo|qr _.kkRedrk lcls vf/kd gS \

(v) F
(c) Cl
(l) I
(n) Li

(ix) An important constituent of amalgam is:
(a) Al
(b) Ag
(c) Hg
(d) None of these
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(ix) veyxe dk eq[; vo;o gS %

(v) Al
(c) Ag
(l) Ag
(n) buesa ls dksbZ ughaA

(x) Total number of orbitals associated with second shell
will be ?
(a) 2
(b) 3
(c) 4
(d) 9

(x) nwljh d{kk ls lacaf/kr d{kdks dh dqy la[;k gksxh \

(v) 2
(c) 3
(l) 4
(n) 9

(xi) Fused NaCl conducts electricity because of
(a) Free ions
(b) Free electrons
(c) Free molecules
(d) None of these

(xi) fi?kyk gqvk NaCl  budh mifLFkfr ds dkj.k fo|qr dk
pkyd gksrk gS %

(v) eqä vk;u

(c) eqä bysDVªkWu

(l) eqä v.kq

(n) buesa ls dksbZ ughaA

(xii) The substance used in metallurgy to remove silica are
called
(a) Gangue
(b) Flux
(c) Slag
(d) None of these

(xii) inkFkZ tks /kkrqdeZ esa flfydk dks gVkus esa iz;qDr gksrk gs%

(v) xSax
(c) QyDl

(l) LySx

(n) buesa ls dksbZ ughaA

(xiii) Smelting involves reduction of metal oxide with:
(a) C
(b) CO
(c) Al
(d) None of these
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(xiii) LesYVhax esa /kkrq vkWDlkbM ds mip;u esa la;qDr gS %

(v) C
(c) CO
(l) Al
(n) buesa ls dksbZ ugha

(xiv) Bauxite is :
(a) Al2O3
(b) Al2O3 . H2O
(c) Al2O3 . 2 H2O
(d) Na3  AlF6

(xiv) ckDlkbV gS%

(v) Al2O3
(c) Al2O3 . H2O
(l) Al2O3 . 2 H2O
(n) Na3  AlF6

(xv) The number of radial nodes for 3p orbital is:
(a) 1
(b) 2
(c) 3
(d) 4

(xv) 3p d{kd esa fdrus uksM gksaxsA
(v) 1
(c) 2

(l) 3
(n) 4

(xvi) The octane number of iso-octane is :
(a) 50
(b) 100
(c) 0
(d) None of these

(xvi) vkblks&vkDVsu dh vkDVsu la[;k gksrh gS%

(v) 50
(c) 100
(l) 0
(n) buesa ls dksbZ ughaA

(xvii) A lubricant should possess high:
(a) Acidity
(b) Ollness
(c) Volatility
(d) None of these

(xvii) ,d Lusgd dk mPp D;k gksuk pkfg,\

(v) vEyh;rk

(c) rSyh;

(l) ok"i'khyrk

(n) buesa ls dksbZ ughaA
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(xviii) The volume of 22 gm CO2 at NTP is :
(a) 11.2 litre
(b) 22.4 litre
(c) 48.8 litre
(d) None of these

(xviii) 22 xzke CO2 dk lk-rk-nk- ij vk;ru gksrk gS%

(v) 11.2 yhVj
(c) 22.4 yhVj
(l) 48.8 yhVj
(n) buesa lsa dksbZ ugha

(xix) Which of the following is not an element of first transi-
tion series?
(a) Iron
(b) Chromium
(c) Nickel
(d) Magnesium.

(xix) fuEufyf[kr esa dkSu ,d izFke laLdj.k Js.kh dk rRo

ugha gS\

(v) yksgk
(c) Øksfe;e

(l) fudsy

(n) eSXusf'k;e

(xx) Blistar copper is :
(a) Ore of copper
(b) Pure copper
(c) Alloy of Copper
(d) Copper Containing some impurity

(xx) QQksysnkj rk¡ck gS%

(v) rkWck dk v;Ld

(c) 'kq) rk¡ck

(l) rk¡ck dk feJ/kkrq

(n) dqN v'kqf) ds lkFk rk¡ckA

GROUP-B
Answer all five questions :  5 x 4 = 20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. How many moles are there in 50 gm of Al ?
50 xzke Al esa fdrus eksy ekStwn jgrs gS\ 4

OR (vFkok)
What is acid rain? How it occur? Describe its effects.
vEy o"kkZ D;k gS\ ;g fdl izdkj gksrh gS\ blds izHkkoks a dk

o.kZu dhft,A 4
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3. Establish relation between Kp and Kc
Kp vkSj Kc ds chp laca/k LFkkfir djsaA 4

OR (vFkok)
Differentiate between temporary and permanent hardness of
water.
e`nq ,oa dBksj ty esa vUrj Li"V dhft,A 4

4. Calculate the mass in kilogram of 6.023x1025 moleculess of
C2H5OH. 4

C2H5OH ds 6.023x1025 v.kqvksa dh fdyksxzke esa ek=k Kkr dhft,A

OR (vFkok)
Write down the electronic configaration of  Fe+2 and Cu+2  ions.
Fe+2  rFkk Cu+2  vk;uksa dk bysDVªkfud foU;kl fy[ksaA 4

5. Write down the characteristics of good fuel.
vPNs bZ/ku dh fo'ks"krk,W fy[ks aA 4

OR (vFkok)
Describe boiler trouble caused by using hard water for
generating steam.      4

ok"i cukus ds fy, O;k;yj esa dBksj ty iz;qDr djus ls gksus

okyh dfBukb;ksa dk o.kZu djsaA 4

6. What is varnish? what are the characteristics of good varnish?
okfuZl D;k gS\ ,d vPNs okfuZl dh D;k fo'ks"krk,W gS\ 4

OR (vFkok)
Explain paulis exclusion principle.
ikSyh ds viotZu fl)kUr dh O;k[;k djsaA 4

GROUP-C
Answer all Five questions :   8 x 5 = 4 0
lHkh ik¡p iz'uks ds mÙkj nsaA +:
7. Discuss the principle involved in soda-lime process of softening

water.
ty dks e`nq cukus ds fy, iz;qDr lksMk&ykbe fof/k laca/kh

fl)kUr dh O;k[;k djsaA 8
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                                 OR (vFkok)
At 4440 C temperature 15 gm mole H2 react with 5.2 gm mole I2
to form 10 gm mole HI. Find value of equilibrium constant.
4440 C rki ij 15 xzke v.kq rFkk 5.2 xzke v.kq I2 vkil esa

izfrfØ;k  dj ds 10 xzke v.kq HI nsrs gSaA lkE; fLFkjkad dk eku
Kkr djsaA 8

8. Calculate the temporary and permanent hardness of a sample
of water containing Mg(HCO3)2 =7.3, ppm Ca (HCO3)2 =16.2 ppm,
MgCl2 = 9.5 ppm, CaSO4 = 13.6 ppm.
vLFkk;h ,oa LFkk;h dBksjrk dh x.kuk djsa ;fn ty ds ,d

uewus esa Mg(HCO3)2 =7.3,  ppm Ca (HCO3)2 =16.2 ppm,
 MgCl2 = 9.5 ppm,  CaSO4 = 13.6 ppm. 8

OR (vFkok)
(a) Define fuel. Discuss the classification of fuels.
(b) Calculate the weight of single molecule of water.
(a) bZ/ku dks ifjHkkf"kr djsaA bZ/ku dk oxhZdj.k djsaA
(b) ty ds ,d v.kq dk Hkkj Kkr djsaA 8

9. Show that ph value of 1x10-8 M Hcl is slightly less than 7
fn[kk,W fd 1x10-8 M Hcl dk ph eku 7 ls flQZ FkksM+k de gSaA

OR (vFkok)
Describe hydrogen displacement method for determine
equivalent weight.
lerqY; Hkkj Kkr djus dh gkbMªkstu foLFkkiu fof/k dk o.kZu

djsaA 8

10. Write down names and formula of important ores of Copper.
How Copper is extracted from its ore?
rk¡csa ds egRoiw.kZ v;Ldksa ds uke ,oa jlk;fud lw= fy[ksaA rk¡cs

ds fu"d"kZ.k blds v;Ld ls dSls fd;k tkrk gSa \ 8
                                 OR (vFkok)

Define lubricants.  Wri te down the main funct ions and
characteristics of a good lubricant .
Lusgd dks ifjHkkf"kr djsaA ,d vPNs Lusgd ds eq[; dk;Z rFkk

fo'ks"krkvksa dk mYys[k djsaA 8

11. Write short notes on any two of the following : -
(i)   Le - chatelier's principle
(ii)  Depletion of ozone layer
(iii)  Electron affinity
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fuEukafdr esa ls fdUgha nks ij fVIi.kh fy[ksa %&

(i)   yh & 'kSrsfy, fu;e
(ii)  vkstksu ijr dk {k;

(iii)  bysDVªku ,fQuhVh 8
OR (vFkok)

Write short notes on any two of the following : -
(i)   Oil gas
(ii)  Required properties of paint
(iii) Cracking of Petroleum.
fuEukafdr esa ls fdUgha nks ij fVIi.kh fy[ksa %&

(i)   vkW;u xSl

(ii)  isUV ds fufnZ"V xq.k
(iii)  isVªksfy;e dk Hkatu 8

***


